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Gating strategy

(IgG staining as negative control)

All Events - Sample

R1: 96.410%

ESC:H (1073)
2

re

1 - Sample

1000 -

R2: 87.460%

R2 - Sample

R3: 0.000%

, —~—— — (T et r—t a- WD, VE—
0.001 500 1000 0.001 500 1000 10 10 10’ 10 10 10 10
ESC:A (1013) ESC-A (10/3) EIIC-A
5hmC staining
7
o0 R1: 322549 100 1
150
™ ™
< <
= S R2: 322549 E100-
g‘w 3 :
: : o
g 50
: 458
0001 Lt — : L S : 0 e ——
0.001 500 1000 0.001 500 1000 10 w0 1w W 1w 1w w0
ESC:A (1073) ESC-A (1073) EIIC-A
FITC: 5hmC

fluorescence intensity



